SB003-25 2024 Annual LMIG Resurfacing Project Engineering

				Allied Paving Contractors, Inc.		Baldwin Paving Company, Inc.		Blount Construction Company, Inc.		C.W. Matthews Contracting Co., Inc.		Georgia Paving, LLC	
ITEM		APF	PROX.	UNIT		UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
#	DESCRIPTION		TY.	PRICE	TOTAL PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE
Section	A: Stone Mountain St.												
1	Mobilization	1	LUMP	\$7,500.00	\$7,500.00	\$5,065.00	\$5,065.00	\$14,197.74	\$14,197.74	\$10,047.00	\$10,047.00	\$966.00	\$966.00
2	Traffic Control (GDOT #150-1000)	1	LUMP	\$7,500.00	\$7,500.00	\$17,435.00	\$17,435.00	\$15,735.01	\$15,735.01	\$10,100.00	\$10,100.00	\$12,250.00	\$12,250.00
3	Temporary Striping	1	LUMP	\$6,250.00	\$6,250.00	\$2,840.00	\$2,840.00	\$2,100.00	\$2,100.00	\$2,750.00	\$2,750.00	\$3,000.00	\$3,000.00
	FULL MILL ASPH CONC PVMT (GDOT #432-				,						-		
4	5010)	5,894	SY	\$2.95	\$17,387.30	\$4.60	\$27,112.40	\$7.47	\$44,028.18	\$5.44	\$32,063.36	\$8.43	\$49,686.42
5	1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT	500	TON	\$145.00	\$72,500.00	\$145.00	\$72,500.00	\$141.59	\$70,795.00	\$120.88	\$60,440.00	\$209.59	\$104,795.00
6	1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT	500	TON	\$145.00	\$72,500.00	\$145.00	\$72,500.00	\$141.11	\$70,555.00	\$123.28	\$61,640.00	\$176.31	\$88,155.00
7	STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors.	0.29		\$15,000.00	\$4,350.00	\$9,503.00	\$2,755.87	\$12,600.00	\$3,654.00	\$12,000.00	\$3,480.00	\$13,980.00	\$4,054.20
8	STRIPING SOLID 5" WHITE line Thermoplastic	0.6	MILES	\$7,500.00	\$4,500.00	\$4,488.00	\$2,692.80	\$6,300.00	\$3,780.00	\$6,000.00	\$3,600.00	\$6,990.00	\$4,194.00
	STRIPING SKIP 5" WHITE line Thermoplastic	0.08	MILES	\$5,000.00	\$400.00	\$4,171.20	\$333.70	\$4,200.00	\$336.00	\$4,000.00	\$320.00	\$4,660.00	\$372.80
10	Thermoplastic STRIPING 24" STOP BAR	24	LF	\$12.50	\$300.00	\$7.22	\$173.28	\$10.50	\$252.00	\$10.00	\$240.00	\$11.65	\$279.60
11	X-WALK per walking Thermoplastic (8" SOLID WHITE)	126	SY	\$18.75	\$2,362.50	\$4.10	\$516.60	\$15.75	\$1,984.50	\$15.00	\$1,890.00	\$17.48	\$2,202.48
12	THERMOPLASTIC PVMT MARKING ARROW	5	EACH	\$125.00	\$625.00	\$177.00	\$885.00	\$105.00	\$525.00	\$100.00	\$500.00	\$116.50	\$582.50
13	THERMOPLASTIC PVMT MARKING WORD	1	EACH	\$250.00	\$250.00	\$222.00	\$222.00	\$210.00	\$210.00	\$200.00	\$200.00	\$233.00	\$233.00
14	YELLOW THERMOPLASTIC DETAIL "B" (GDOT T-14) INCL. REFLECTIVE PAVEMENT MARKERS all colors.	115	SY	\$9.50	\$1,092.50	\$20.55	\$2,363.25	\$7.88	\$906.20	\$7.50	\$862.50	\$8.74	\$1,005.10
15	WHITE THERMOPLASTIC DETAIL "A" (GDOT T- 14) INCL. REFLECTIVE PAVEMENT MARKERS all colors.	115	SY	\$9.50	\$1,092.50	\$20.86	\$2,398.90	\$7.88	\$906.20	\$7.50	\$862.50	\$8.74	\$1,005.10
16	WATER VALVE RINGS/RISERS	1	EACH	\$350.00	\$350.00	\$400.00	\$400.00	\$330.58	\$330.58	\$1,560.09	\$1,560.09	\$350.00	\$350.00
G .	D. Will Co	section	A Total	\$198	3,959.80	\$210.	,193.80	\$230,2	293.41	\$190.	555.45	\$2/3,	131.20
Section	B: Wilson Ct.	-	TIDE	05,000,00	Ø5 000 00	02.724.00	Ф2 7 2 6 0 6	05.402.05	05.402.06	04.127.00	Ø4.127.00	024.00	02400
1	Mobilization	<u>l</u>	LUMP	\$5,000.00	\$5,000.00	\$3,736.00	\$3,736.00	\$5,492.86	\$5,492.86	\$4,137.00	\$4,137.00	\$34.00	\$34.00
2	Traffic Control	1000	LUMP	\$7,500.00	\$7,500.00	\$11,615.00	\$11,615.00	\$1,874.25	\$1,874.25	\$10,165.23	\$10,165.23	\$1,500.00	\$1,500.00
3	FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 9.5MM	1090	SY	\$9.50	\$10,355.00	\$9.75	\$10,627.50	\$7.50	\$8,175.00	\$11.04	\$12,033.60	\$10.69	\$11,652.10
4	SUPERPAVE, GP 2 ONLY (SURFACE COURSE), INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT	93	TON	\$175.00	\$16,275.00	\$190.00	\$17,670.00	\$163.86	\$15,238.98	\$159.53	\$14,836.29	\$170.29	\$15,836.97
5	1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT	30	TON	\$300.00	\$9,000.00	\$690.00	\$20,700.00	\$199.10	\$5,973.00	\$338.29	\$10,148.70	\$203.78	\$6,113.40
	Section B Tota		ı B Total	\$48	,130.00	\$64,	348.50	\$36,7	54.09	\$51,	320.82	\$35,	136.47

Section	C: S. Clayton St.												
1	Mobilization	1	LUMP	\$9,500.00	\$9,500.00	\$12,230.00	\$12,230.00	\$35,959.92	\$35,959.92	\$20,094.00	\$20,094.00	\$1,500.00	\$1,500.00
2	Traffic Control (GDOT #150-1000)	1	LUMP	\$15,000.00	\$15,000.00	\$49,740.00	\$49,740.00	\$43,272.01	\$43,272.01	\$20,600.00	\$20,600.00	\$17,500.00	\$17,500.00
3	Temporary Striping	1	LUMP	\$6,250.00	\$6,250.00	\$7,845.00	\$7,845.00	\$4,200.00	\$4,200.00	\$2,750.00	\$2,750.00	\$6,000.00	\$6,000.00
4	FULL MILL ASPH CONC PVMT	19,840	SY	\$2.85	\$56,544.00	\$3.50	\$69,440.00	\$4.12	\$81,740.80	\$5.69	\$112,889.60	\$4.95	\$98,208.00
	1.5 INCHES RECYCLED ASPH CONC 12.5MM												
	SUPERPAVE, GP 2 ONLY, INCL BITUM MATL &	1,686	TON	\$150.00	\$252,900.00	\$130.00	\$219,180.00	\$145.70	\$245,650.20	\$119.40	\$201,308.40	\$149.22	\$251,584.92
5	H LIME (165LB/SY) AND BITUM TACK COAT	,		•	, , , , , , , , , ,		, , , , , , , , , , , , , , , , , , , ,		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		, , , , , , , , ,		, , , , ,
	1.5 INCHES RECYCLED ASPH CONC 12.5MM												
	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM												
	MATL & H LIME (165LB/SY) – FOR	300	TON	\$150.00	\$45,000.00	\$150.00	\$45,000.00	\$174.66	\$52,398.00	\$151.77	\$45,531.00	\$238.76	\$71,628.00
	NORTHBOUND LANE ONLY (From Church St to	300	1011	\$150.00	ψ+3,000.00	ψ130.00	ψ45,000.00	\$174.00	ψ32,376.00	φ151.//	φ+3,331.00	\$230.70	Ψ/1,020.00
6	Crogan St). AND BITUM TACK COAT												
- 0	STRIPING DOUBLE SOLID 5" YELLOW line												
	Thermoplastic, INCL. REFLECTIVE PAVEMENT	0.204	MII EC	\$15,000.00	\$3,060.00	\$9,346.00	\$1,906.58	\$12,600.00	\$2,570.40	\$11,764.71	\$2,400.00	\$13,980.00	\$2,851.92
7	MARKERS all colors.	0.204	MILES	\$13,000.00	\$3,000.00	\$9,340.00	\$1,900.36	\$12,000.00	\$2,370.40	\$11,704.71	\$2,400.00	\$13,980.00	\$2,031.92
	STRIPING SKIP & SOLID 5" YELLOW line												
	Thermoplastic, INCL. REFLECTIVE PAVEMENT	0.66	MILEC	¢12 500 00	¢0.250.00	\$5,979.60	\$3,946.54	\$10.500.00	\$6,930.00	\$10,000.00	\$6,600.00	\$11,650.00	\$7,689.00
0	* -	0.00	MILES	\$12,500.00	\$8,250.00	\$3,979.00	\$3,940.34	\$10,500.00	\$6,930.00	\$10,000.00	\$6,600.00	\$11,630.00	\$7,089.00
- 8	MARKERS all colors.												
9	STRIPING SOLID 5" WHITE line Thermoplastic	1.23	MILES	\$7,500.00	\$9,225.00	\$4,488.00	\$5,520.24	\$6,300.00	\$7,749.00	\$6,000.00	\$7,380.00	\$6,990.00	\$8,597.70
10	STRIPING SKIP 5" WHITE line Thermoplastic	0.6	MILES	\$5,000.00	\$3,000.00	\$4,171.20	\$2,502.72	\$4,200.00	\$2,520.00	\$4,000.00	\$2,400.00	\$4,660.00	\$2,796.00
11	Thermoplastic STRIPING 24" STOP BAR	144	LF	\$12.50	\$1,800.00	\$7.22	\$1,039.68	\$10.50	\$1,512.00	\$10.00	\$1,440.00	\$11.65	\$1,677.60
	X-WALK per walking Thermoplastic (8" SOLID	428	SY	\$18.75	\$8,025.00	\$4.10	\$1,754.80	\$15.75	\$6,741.00	\$15.00	\$6,420.00	\$17.48	\$7,481.44
12	WHITE)	420	31	\$10.73	\$6,023.00		\$1,734.80	\$13.73	, i	\$13.00	\$0,420.00	\$17.40	
13	THERMOPLASTIC PVMT MARKING ARROW	28	EACH	\$125.00	\$3,500.00	\$177.00	\$4,956.00	\$105.00	\$2,940.00	\$100.00	\$2,800.00	\$116.50	\$3,262.00
14	THERMOPLASTIC PVMT MARKING WORD	5	EACH	\$250.00	\$1,250.00	\$222.00	\$1,110.00	\$210.00	\$1,050.00	\$200.00	\$1,000.00	\$233.00	\$1,165.00
	YELLOW THERMOPLASTIC DETAIL "B"												
	(GDOT T-14) INCL. REFLECTIVE PAVEMENT	122	SY	\$9.50	\$1,159.00	\$20.86	\$2,544.92	\$7.88	\$961.36	\$7.50	\$915.00	\$8.74	\$1,066.28
15	MARKERS all colors.												
	WHITE THERMOPLASTIC DETAIL "A" (GDOT T												
	14) INCL. REFLECTIVE PAVEMENT MARKERS	601	SY	\$9.50	\$5,709.50	\$20.55	\$12,350.55	\$7.88	\$4,735.88	\$7.50	\$4,507.50	\$8.74	\$5,252.74
16	all colors.												
17	HANDICAP SYMBOL (5 FT X 5 FT)	5	EA	\$437.50	\$2,187.50	\$68.90	\$344.50	\$367.50	\$1,837.50	\$350.00	\$1,750.00	\$407.75	\$2,038.75
18	WATER VALVE RINGS/RISERS	20	EACH	\$312.50	\$6,250.00	\$400.00	\$8,000.00	\$355.73	\$7,114.60	\$1,560.09	\$31,201.80	\$350.00	\$7,000.00
19	SEWER VALVE RINGS/RISERS	12	EACH	\$312.50	\$3,750.00	\$400.00	\$4,800.00	\$629.18	\$7,550.16	\$1,613.09	\$19,357.08	\$500.00	\$6,000.00
		Section	C Total	\$442	,360.00	\$454	,211.53	\$517,	432.83	\$491	,344.38	\$503,	299.35
Section	D: Applewood Dr.												
1	Mobilization	1	LUMP	\$5,000.00	\$5,000.00	\$4,550.00	\$4,550.00	\$9,845.30	\$9,845.30	\$4,137.00	\$4,137.00	\$800.00	\$800.00
2	Traffic Control (GDOT #150-1000)	1	LUMP	\$5,500.00	\$5,500.00	\$12,930.00	\$12,930.00	\$4,641.01	\$4,641.01	\$6,050.00	\$6,050.00	\$1,750.00	\$1,750.00
3	FULL MILL ASPH CONC PVMT	3,990	SY	\$3.25	\$12,967.50	\$4.25	\$16,957.50	\$4.83	\$19,271.70	\$6.11	\$24,378.90	\$5.52	\$22,024.80
	1.5 INCHES RECYCLED ASPH CONC 9.5MM							l					
	SUPERPAVE, GP 2 ONLY (SURFACE COURSE),	340	TON	\$165.00	\$56,100.00	\$158.00	\$53,720.00	\$152.92	\$51,992.80	\$145.99	\$49,636.60	\$152.19	\$51,744.60
	INCL BITUM MATL & H LIME (165LB/SY) AND	340	1011	\$105.00	\$50,100.00	ψ130.00	ψ33,720.00	\$132.72	ψ31,772.00	φ143.77	\$47,030.00	ψ132.17	Ψ31,744.00
4	BITUM TACK COAT												
	STRIPING DOUBLE SOLID 5" YELLOW line				·								
	Thermoplastic, INCL. REFLECTIVE PAVEMENT	0.23	MILES	\$15,000.00	\$3,450.00	\$9,387.00	\$2,159.01	\$12,600.00	\$2,898.00	\$12,000.00	\$2,760.00	\$13,980.00	\$3,215.40
5	MARKERS all colors.												
~ :		Section	D Total	\$83,	,017.50	\$90,	316.51	\$88,6	48.81	\$86,	962.50	\$79,	534.80
Section	n E: Culver St.		****	Ø5.000.00	05.000.00	00.670.00	# 2 (? 2) 2 2	05.402.05	Φ.5. 4C.5. 0.5	Φ4.10 . 7.0.7	0412705	# 500 00	0.500.00
1	Mobilization	1	LUMP	\$5,000.00	\$5,000.00	\$2,650.00	\$2,650.00	\$5,492.86	\$5,492.86	\$4,137.00	\$4,137.00	\$500.00	\$500.00
2	Traffic Control (GDOT #150-1000)	1	LUMP		\$5,500.00	\$16,145.00	\$16,145.00	\$7,434.01	\$7,434.01	\$6,050.00	\$6,050.00	\$1,750.00	\$1,750.00
3	Temporary Striping	1	LUMP	\$6,500.00	\$6,500.00	\$1,849.74	\$1,849.74	\$1,050.00	\$1,050.00	\$2,750.00	\$2,750.00	\$3,000.00	\$3,000.00
4	FULL MILL ASPH CONC PVMT	1,974	SY	\$5.50	\$10,857.00	\$8.80	\$17,371.20	\$4.82	\$9,514.68	\$8.61	\$16,996.14	\$6.32	\$12,475.68
	1.5 INCHES RECYCLED ASPH CONC 12.5MM							Ī					
	SUPERPAVE, GP 2 ONLY (SURFACE COURSE),	169	TON	\$185.00	\$31,265.00	\$190.00	\$32,110.00	\$152.93	\$25,845.17	\$171.50	\$28,983.50	\$157.17	\$26,561.73
	INCL BITUM MATL & H LIME (165LB/SY) AND	-07	- 01.		,	+	,,,,,,,,,,,		, , , , , , , , , , , , , , , , , , ,		,- 05.50	4-27.11	2=0,201.70
5	BITUM TACK COAT	ı				1	1	Ī		I	Ī		

1	STRIPING DOUBLE SOLID 5" YELLOW line								ı	ı			
		0.105) III FG	#1 # 000 00	#1.055.00	#0 202 0 7	A1 150 26	#1 2 (00 00	61 555 00	#1 2 400 00	#1 5 60.00	#12 000 00	A1 747 50
	Thermoplastic, INCL. REFLECTIVE PAVEMENT	0.125	MILES	\$15,000.00	\$1,875.00	\$9,202.05	\$1,150.26	\$12,600.00	\$1,575.00	\$12,480.00	\$1,560.00	\$13,980.00	\$1,747.50
	MARKERS all colors.	0.1	EAGH	AT 500 00	A750.00	# 4 400 00	# 4 4 0 0 0	# C 200 00	#620.00	# C 000 00	# COO OO	# C 000 00	A.COO.OO
	STRIPING SOLID 5" WHITE line Thermoplastic	0.1	EACH	\$7,500.00	\$750.00	\$4,488.00	\$448.80	\$6,300.00	\$630.00	\$6,000.00	\$600.00	\$6,990.00	\$699.00
	WATER VALVE RINGS/RISERS	3	EACH	\$312.50	\$937.50	\$400.00	\$1,200.00	\$330.60	\$991.80	\$1,903.46	\$5,710.38	\$350.00	\$1,050.00
9	SEWER MANHOLE RINGS/RISERS	2	EACH	\$312.50	\$625.00	\$400.00	\$800.00	\$667.28	\$1,334.56	\$2,404.69	\$4,809.38	\$500.00	\$1,000.00
1.0	TRAFFIC LOOP REPLACEMENT (6FT X 40 FT	1	LUMP	\$5,000.00	\$5,000.00	\$5,400.00	\$5,400.00	\$9,712.50	\$9,712.50	\$9,250.00	\$9,250.00	\$4,000.00	\$4,000.00
10	PRESENCE LOOPS). ALL INCLUDED	C 4°	E T-4-1	660	200.50	670	125.00	0(2.5	200.50	600	846.40	e.s.2.5	702.01
G4°	E. Pil., Di., J	Section	E Total	\$68	,309.50	\$ / 9,	125.00	\$63,3	80.58	\$80,	846.40	\$32,7	783.91
	n F: Pike Blvd. Mobilization	1	LUMP	\$5,000.00	\$5,000.00	\$3,757.00	\$3,757.00	\$5,492.86	\$5,492.86	\$4,137.00	\$4,137.00	\$1,000.00	\$1,000.00
2	Traffic Control	1	LUMP	\$5,000.00	\$5,000.00	\$11,615.00	\$11,615.00	\$3,492.86	\$3,492.80	\$6,050.00	\$6,050.00	\$3,000.00	\$3,000.00
3	Temporary Striping	1	LUMP	\$6,500.00	\$6,500.00	\$1,650.00	\$1,650.00	\$1,050.00	\$1,050.00	\$2,750.00	\$2,750.00	\$3,000.00	\$3,000.00
	EDGE (6 FT WIDE EACH LANE) MILL ASPH	- 1	LUMP	\$6,300.00	\$6,300.00	\$1,630.00	\$1,030.00	\$1,030.00	\$1,030.00	\$2,730.00	\$2,730.00	\$3,000.00	\$3,000.00
	CONC PVMT	1,587	SY	\$6.50	\$10,315.50	\$11.00	\$17,457.00	\$3.40	\$5,395.80	\$12.60	\$19,996.20	\$9.52	\$15,108.24
-4	1.5 INCHES RECYCLED ASPH CONC 12.5MM												
	SUPERPAVE, GP 2 ONLY (SURFACE COURSE),												
	INCL BITUM MATL & H LIME (165LB/SY) AND	294	TON	\$165.00	\$48,510.00	\$160.00	\$47,040.00	\$149.83	\$44,050.02	\$148.45	\$43,644.30	\$148.22	\$43,576.68
	BITUM TACK COAT												
	SEWER MANHOLE RINGS/RISERS	2	EACH	\$312.50	\$625.00	\$400.00	\$800.00	\$667.28	\$1,334.56	\$2,404.69	\$4,809.38	\$500.00	\$1,000.00
	STRIPING DOUBLE SOLID 5" YELLOW line		L/1011	ψυ12.00	ψ023.00	ψ-του.υυ	\$000.00	ψ007.20	Ψ1,557.50	Ψ2, τυτ.υ2	ψ-1,007.30	φ500.00	ψ1,000.00
II I	Thermoplastic, INCL. REFLECTIVE PAVEMENT	0.21	MILES	\$15,000.00	\$3,150.00	\$9,387.00	\$1,971.27	\$12,600.00	\$2,646.00	\$12,000.00	\$2,520.00	\$13,980.00	\$2,935.80
	MARKERS all colors.	0.21	WIILLS	φ15,000.00	ψ3,130.00	Ψ2,307.00	Ψ1,7/1.2/	\$12,000.00	\$2,040.00	\$12,000.00	\$2,320.00	\$13,700.00	\$2,755.00
,	MARKERS all colors.	Section	F Total	\$79	.100.50	\$84	290.27	\$63.6	96.75	\$83	906.88	\$69.6	520.72
Section	G: Born St.			4.72	,	401,	, , , ,	400,		700,		407,	
	Mobilization	1	LUMP	\$5,000.00	\$5,000.00	\$3,757.00	\$3,757.00	\$14,197.73	\$14,197.73	\$8,274.00	\$8,274.00	\$1,000.00	\$1,000.00
2	Traffic Control (GDOT #150-1000)	1	LUMP	\$5,000.00	\$5,000.00	\$11,615.00	\$11,615.00	\$9,607.51	\$9,607.51	\$13,379.48	\$13,379.48	\$5,250.00	\$5,250.00
3	Temporary Striping	1	LUMP	\$6,250.00	\$6,250.00	\$1,650.00	\$1,650.00	\$1,050.00	\$1,050.00	\$2,750.00	\$2,750.00	\$3,000.00	\$3,000.00
4	FULL MILL ASPH CONC PVMT	4,379	SY	\$3.00	\$13,137.00	\$3.00	\$13,137.00	\$4.48	\$19,617.92	\$8.07	\$35,338.53	\$4.68	\$20,493.72
	1.5 INCHES RECYCLED ASPH CONC 12.5MM												
	SUPERPAVE, GP 2, INCL BITUM MATL & H	372	TON										
5	LIME (165LB/SY) AND BITUM TACK COAT			\$150.00	\$55,800.00	\$145.00	\$53,940.00	\$149.60	\$55,651.20	\$136.48	\$50,770.56	\$147.60	\$54,907.20
			1011	\$150.00	\$55,800.00	\$145.00	\$53,940.00	\$149.60	\$55,651.20	\$136.48	\$50,770.56	\$147.60	\$54,907.20
	1.5 INCHES RECYCLED ASPH CONC 12.5MM		TON	\$150.00	\$55,800.00	\$145.00	\$53,940.00	\$149.60	\$55,651.20	\$136.48	\$50,770.56	\$147.60	\$54,907.20
	1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM	97		·									
	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM	87	TON	\$150.00 \$150.00	\$55,800.00 \$13,050.00	\$145.00 \$215.00	\$53,940.00 \$18,705.00	\$149.60 \$176.57	\$55,651.20 \$15,361.59	\$136.48 \$291.43	\$50,770.56 \$25,354.41	\$147.60 \$174.65	\$54,907.20 \$15,194.55
6	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – From N Perry St to N Clavton St. AND BITUM TACK COAT	87		·									
6	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – From N Perry St to	87		·									
6	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – From N Perry St to N Clavton St. AND BITUM TACK COAT		TON	·									
6	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – From N Perry St to N Clayton St. AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line		TON	\$150.00	\$13,050.00	\$215.00	\$18,705.00	\$176.57	\$15,361.59	\$291.43	\$25,354.41	\$174.65	\$15,194.55
6 7 8	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – From N Perry St to N Clayton St. AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. Thermoplastic STRIPING 24" STOP BAR		TON	\$150.00	\$13,050.00	\$215.00	\$18,705.00	\$176.57	\$15,361.59	\$291.43	\$25,354.41	\$174.65	\$15,194.55
7 8	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – From N Perry St to N Clayton St. AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. Thermoplastic STRIPING 24" STOP BAR X-WALK per walking Thermoplastic	0.216	TON MILES	\$150.00 \$15,000.00 \$12.50	\$13,050.00 \$3,240.00 \$937.50	\$215.00 \$890.00 \$7.22	\$18,705.00 \$192.24 \$541.50	\$176.57 \$12,600.00 \$10.50	\$15,361.59 \$2,721.60 \$787.50	\$291.43 \$12,222.22 \$10.00	\$25,354.41 \$2,640.00 \$750.00	\$174.65 \$13,980.00 \$11.65	\$15,194.55 \$3,019.68 \$873.75
6 7 8	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – From N Perry St to N Clayton St. AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. Thermoplastic STRIPING 24" STOP BAR X-WALK per walking Thermoplastic (8" SOLID WHITE)	0.216 75 146	TON MILES LF SY	\$150.00 \$15,000.00 \$12.50 \$18.75	\$13,050.00 \$3,240.00 \$937.50 \$2,737.50	\$215.00 \$890.00 \$7.22 \$4.10	\$18,705.00 \$192.24 \$541.50 \$598.60	\$176.57 \$12,600.00 \$10.50 \$15.75	\$15,361.59 \$2,721.60 \$787.50 \$2,299.50	\$291.43 \$12,222.22 \$10.00 \$15.00	\$25,354.41 \$2,640.00 \$750.00 \$2,190.00	\$174.65 \$13,980.00 \$11.65 \$17.48	\$15,194.55 \$3,019.68 \$873.75 \$2,552.08
6 7 8	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – From N Perry St to N Clayton St. AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. Thermoplastic STRIPING 24" STOP BAR X-WALK per walking Thermoplastic	0.216	TON MILES	\$150.00 \$15,000.00 \$12.50	\$13,050.00 \$3,240.00 \$937.50	\$215.00 \$890.00 \$7.22	\$18,705.00 \$192.24 \$541.50	\$176.57 \$12,600.00 \$10.50	\$15,361.59 \$2,721.60 \$787.50	\$291.43 \$12,222.22 \$10.00	\$25,354.41 \$2,640.00 \$750.00	\$174.65 \$13,980.00 \$11.65	\$15,194.55 \$3,019.68 \$873.75
6 7 8	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – From N Perry St to N Clayton St. AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. Thermoplastic STRIPING 24" STOP BAR X-WALK per walking Thermoplastic (8" SOLID WHITE)	0.216 75 146	TON MILES LF SY	\$150.00 \$15,000.00 \$12.50 \$18.75 \$312.50 \$312.50	\$13,050.00 \$3,240.00 \$937.50 \$2,737.50 \$625.00 \$937.50	\$215.00 \$890.00 \$7.22 \$4.10	\$18,705.00 \$192.24 \$541.50 \$598.60	\$176.57 \$12,600.00 \$10.50 \$15.75 \$667.28 \$330.60	\$15,361.59 \$2,721.60 \$787.50 \$2,299.50 \$1,334.56 \$991.80	\$291.43 \$12,222.22 \$10.00 \$15.00	\$25,354.41 \$2,640.00 \$750.00 \$2,190.00	\$174.65 \$13,980.00 \$11.65 \$17.48 \$500.00 \$350.00	\$15,194.55 \$3,019.68 \$873.75 \$2,552.08 \$1,000.00 \$1,050.00
6 7 8 9 10	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – From N Perry St to N Clayton St. AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. Thermoplastic STRIPING 24" STOP BAR X-WALK per walking Thermoplastic (8" SOLID WHITE) SEWER MANHOLE RINGS/RISERS WATER VALVE RINGS/RISERS	0.216 75 146 2 3	TON MILES LF SY EACH	\$150.00 \$15,000.00 \$12.50 \$18.75 \$312.50 \$312.50	\$13,050.00 \$3,240.00 \$937.50 \$2,737.50 \$625.00	\$215.00 \$890.00 \$7.22 \$4.10 \$400.00 \$400.00	\$18,705.00 \$192.24 \$541.50 \$598.60 \$800.00	\$176.57 \$12,600.00 \$10.50 \$15.75 \$667.28	\$15,361.59 \$2,721.60 \$787.50 \$2,299.50 \$1,334.56 \$991.80	\$291.43 \$12,222.22 \$10.00 \$15.00 \$2,404.69 \$1,903.46	\$25,354.41 \$2,640.00 \$750.00 \$2,190.00 \$4,809.38	\$174.65 \$13,980.00 \$11.65 \$17.48 \$500.00 \$350.00	\$15,194.55 \$3,019.68 \$873.75 \$2,552.08 \$1,000.00
6 7 8 9 10 11	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – From N Perry St to N Clayton St. AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. Thermoplastic STRIPING 24" STOP BAR X-WALK per walking Thermoplastic (8" SOLID WHITE) SEWER MANHOLE RINGS/RISERS	0.216 75 146 2 3	TON MILES LF SY EACH LF	\$150.00 \$15,000.00 \$12.50 \$18.75 \$312.50 \$312.50	\$13,050.00 \$3,240.00 \$937.50 \$2,737.50 \$625.00 \$937.50	\$215.00 \$890.00 \$7.22 \$4.10 \$400.00 \$400.00	\$18,705.00 \$192.24 \$541.50 \$598.60 \$800.00 \$1,200.00	\$176.57 \$12,600.00 \$10.50 \$15.75 \$667.28 \$330.60	\$15,361.59 \$2,721.60 \$787.50 \$2,299.50 \$1,334.56 \$991.80	\$291.43 \$12,222.22 \$10.00 \$15.00 \$2,404.69 \$1,903.46	\$25,354.41 \$2,640.00 \$750.00 \$2,190.00 \$4,809.38 \$5,710.38	\$174.65 \$13,980.00 \$11.65 \$17.48 \$500.00 \$350.00	\$15,194.55 \$3,019.68 \$873.75 \$2,552.08 \$1,000.00 \$1,050.00
7 8 9 10 11 Section	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – From N Perry St to N Clayton St. AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. Thermoplastic STRIPING 24" STOP BAR X-WALK per walking Thermoplastic (8" SOLID WHITE) SEWER MANHOLE RINGS/RISERS WATER VALVE RINGS/RISERS H: Paper Mill Rd./Springlake Rd. Mobilization	0.216 75 146 2 3	TON MILES LF SY EACH LF G Total	\$150.00 \$15,000.00 \$12.50 \$18.75 \$312.50 \$106 \$7,500.00	\$13,050.00 \$3,240.00 \$937.50 \$2,737.50 \$625.00 \$937.50 5,714.50	\$215.00 \$890.00 \$7.22 \$4.10 \$400.00 \$106 \$14,490.00	\$18,705.00 \$192.24 \$541.50 \$598.60 \$800.00 \$1,200.00 136.34 \$14,490.00	\$176.57 \$12,600.00 \$10.50 \$15.75 \$667.28 \$330.60 \$123,4	\$15,361.59 \$2,721.60 \$787.50 \$2,299.50 \$1,334.56 \$991.80 \$20.91 \$31,607.49	\$291.43 \$12,222.22 \$10.00 \$15.00 \$2,404.69 \$1,903.46 \$151,	\$25,354.41 \$2,640.00 \$750.00 \$2,190.00 \$4,809.38 \$5,710.38 966.74 \$20,094.00	\$174.65 \$13,980.00 \$11.65 \$17.48 \$500.00 \$350.00 \$108,	\$15,194.55 \$3,019.68 \$873.75 \$2,552.08 \$1,000.00 \$1,050.00 340.98 \$1,500.00
7 8 9 10 11 Section 1 2	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – From N Perry St to N Clayton St. AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. Thermoplastic STRIPING 24" STOP BAR X-WALK per walking Thermoplastic (8" SOLID WHITE) SEWER MANHOLE RINGS/RISERS WATER VALVE RINGS/RISERS H: Paper Mill Rd./Springlake Rd. Mobilization Traffic Control	0.216 75 146 2 3	TON MILES LF SY EACH LF G Total LUMP LUMP	\$150.00 \$15,000.00 \$12.50 \$18.75 \$312.50 \$106 \$7,500.00 \$15,000.00	\$13,050.00 \$3,240.00 \$937.50 \$2,737.50 \$625.00 \$937.50 5,714.50 \$7,500.00 \$15,000.00	\$215.00 \$890.00 \$7.22 \$4.10 \$400.00 \$106 \$14,490.00 \$64,155.00	\$18,705.00 \$192.24 \$541.50 \$598.60 \$800.00 \$1,200.00 136.34 \$14,490.00 \$64,155.00	\$176.57 \$12,600.00 \$10.50 \$15.75 \$667.28 \$330.60 \$123,0 \$31,607.49 \$37,758.01	\$15,361.59 \$2,721.60 \$787.50 \$2,299.50 \$1,334.56 \$991.80 \$20.91 \$31,607.49 \$37,758.01	\$291.43 \$12,222.22 \$10.00 \$15.00 \$2,404.69 \$1,903.46 \$151. \$20,094.00 \$23,158.98	\$25,354.41 \$2,640.00 \$750.00 \$2,190.00 \$4,809.38 \$5,710.38 966.74 \$20,094.00 \$23,158.98	\$174.65 \$13,980.00 \$11.65 \$17.48 \$500.00 \$350.00 \$108, \$1,500.00 \$7,000.00	\$15,194.55 \$3,019.68 \$873.75 \$2,552.08 \$1,000.00 \$1,050.00 340.98 \$1,500.00 \$7,000.00
7 8 9 10 11 Section 1 2 3	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – From N Perry St to N Clayton St. AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. Thermoplastic STRIPING 24" STOP BAR X-WALK per walking Thermoplastic (8" SOLID WHITE) SEWER MANHOLE RINGS/RISERS WATER VALVE RINGS/RISERS H: Paper Mill Rd./Springlake Rd. Mobilization Traffic Control Temporary Striping	0.216 75 146 2 3	TON MILES LF SY EACH LF G Total	\$150.00 \$15,000.00 \$12.50 \$18.75 \$312.50 \$106 \$7,500.00	\$13,050.00 \$3,240.00 \$937.50 \$2,737.50 \$625.00 \$937.50 5,714.50	\$215.00 \$890.00 \$7.22 \$4.10 \$400.00 \$106 \$14,490.00	\$18,705.00 \$192.24 \$541.50 \$598.60 \$800.00 \$1,200.00 136.34 \$14,490.00	\$176.57 \$12,600.00 \$10.50 \$15.75 \$667.28 \$330.60 \$123,4	\$15,361.59 \$2,721.60 \$787.50 \$2,299.50 \$1,334.56 \$991.80 \$20.91 \$31,607.49	\$291.43 \$12,222.22 \$10.00 \$15.00 \$2,404.69 \$1,903.46 \$151,	\$25,354.41 \$2,640.00 \$750.00 \$2,190.00 \$4,809.38 \$5,710.38 966.74 \$20,094.00	\$174.65 \$13,980.00 \$11.65 \$17.48 \$500.00 \$350.00 \$108,	\$15,194.55 \$3,019.68 \$873.75 \$2,552.08 \$1,000.00 \$1,050.00 340.98 \$1,500.00
7 8 9 10 11 Section 1 2 3	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – From N Perry St to N Clayton St. AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. Thermoplastic STRIPING 24" STOP BAR X-WALK per walking Thermoplastic (8" SOLID WHITE) SEWER MANHOLE RINGS/RISERS WATER VALVE RINGS/RISERS H: Paper Mill Rd./Springlake Rd. Mobilization Traffic Control Temporary Striping FULL MILL ASPH CONC PVMT (GDOT #432-	0.216 75 146 2 3 Section	TON MILES LF SY EACH LF G Total LUMP LUMP LUMP	\$150.00 \$15,000.00 \$12.50 \$18.75 \$312.50 \$312.50 \$106 \$7,500.00 \$15,000.00 \$6,500.00	\$13,050.00 \$3,240.00 \$937.50 \$2,737.50 \$625.00 \$937.50 5,714.50 \$7,500.00 \$15,000.00 \$6,500.00	\$215.00 \$890.00 \$7.22 \$4.10 \$400.00 \$106 \$14,490.00 \$64,155.00 \$6,168.00	\$18,705.00 \$192.24 \$541.50 \$598.60 \$800.00 \$1,200.00 136.34 \$14,490.00 \$64,155.00 \$6,168.00	\$176.57 \$12,600.00 \$10.50 \$15.75 \$667.28 \$330.60 \$123, \$31,607.49 \$37,758.01 \$4,200.00	\$15,361.59 \$2,721.60 \$787.50 \$2,299.50 \$1,334.56 \$991.80 \$20.91 \$31,607.49 \$37,758.01 \$4,200.00	\$291.43 \$12,222.22 \$10.00 \$15.00 \$2,404.69 \$1,903.46 \$151. \$20,094.00 \$23,158.98 \$2,750.00	\$25,354.41 \$2,640.00 \$750.00 \$2,190.00 \$4,809.38 \$5,710.38 966.74 \$20,094.00 \$23,158.98 \$2,750.00	\$174.65 \$13,980.00 \$11.65 \$17.48 \$500.00 \$350.00 \$108, \$1,500.00 \$7,000.00 \$6,000.00	\$15,194.55 \$3,019.68 \$873.75 \$2,552.08 \$1,000.00 \$1,050.00 340.98 \$1,500.00 \$7,000.00 \$6,000.00
7 8 9 10 11 Section 1 2 3	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – From N Perry St to N Clayton St. AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. Thermoplastic STRIPING 24" STOP BAR X-WALK per walking Thermoplastic (8" SOLID WHITE) SEWER MANHOLE RINGS/RISERS WATER VALVE RINGS/RISERS TH: Paper Mill Rd./Springlake Rd. Mobilization Traffic Control Temporary Striping FULL MILL ASPH CONC PVMT (GDOT #432-5010)	0.216 75 146 2 3	TON MILES LF SY EACH LF G Total LUMP LUMP	\$150.00 \$15,000.00 \$12.50 \$18.75 \$312.50 \$106 \$7,500.00 \$15,000.00	\$13,050.00 \$3,240.00 \$937.50 \$2,737.50 \$625.00 \$937.50 5,714.50 \$7,500.00 \$15,000.00	\$215.00 \$890.00 \$7.22 \$4.10 \$400.00 \$106 \$14,490.00 \$64,155.00	\$18,705.00 \$192.24 \$541.50 \$598.60 \$800.00 \$1,200.00 136.34 \$14,490.00 \$64,155.00	\$176.57 \$12,600.00 \$10.50 \$15.75 \$667.28 \$330.60 \$123,0 \$31,607.49 \$37,758.01	\$15,361.59 \$2,721.60 \$787.50 \$2,299.50 \$1,334.56 \$991.80 \$20.91 \$31,607.49 \$37,758.01	\$291.43 \$12,222.22 \$10.00 \$15.00 \$2,404.69 \$1,903.46 \$151. \$20,094.00 \$23,158.98	\$25,354.41 \$2,640.00 \$750.00 \$2,190.00 \$4,809.38 \$5,710.38 966.74 \$20,094.00 \$23,158.98	\$174.65 \$13,980.00 \$11.65 \$17.48 \$500.00 \$350.00 \$108, \$1,500.00 \$7,000.00	\$15,194.55 \$3,019.68 \$873.75 \$2,552.08 \$1,000.00 \$1,050.00 340.98 \$1,500.00 \$7,000.00
7 8 9 10 11 Section 1 2 3	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – From N Perry St to N Clayton St. AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. Thermoplastic STRIPING 24" STOP BAR X-WALK per walking Thermoplastic (8" SOLID WHITE) SEWER MANHOLE RINGS/RISERS WATER VALVE RINGS/RISERS H: Paper Mill Rd./Springlake Rd. Mobilization Traffic Control Temporary Striping FULL MILL ASPH CONC PVMT (GDOT #432-5010) 1.5 INCHES RECYCLED ASPH CONC 12.5MM	0.216 75 146 2 3 Section 1 1 15,866	TON MILES LF SY EACH LF G Total LUMP LUMP LUMP LUMP	\$150.00 \$15,000.00 \$12.50 \$18.75 \$312.50 \$312.50 \$106 \$7,500.00 \$15,000.00 \$6,500.00 \$2.75	\$13,050.00 \$3,240.00 \$937.50 \$2,737.50 \$625.00 \$937.50 5,714.50 \$7,500.00 \$15,000.00 \$6,500.00	\$215.00 \$890.00 \$7.22 \$4.10 \$400.00 \$106 \$14,490.00 \$64,155.00 \$6,168.00 \$3.00	\$18,705.00 \$192.24 \$541.50 \$598.60 \$800.00 \$1,200.00 136.34 \$14,490.00 \$64,155.00 \$6,168.00	\$176.57 \$12,600.00 \$10.50 \$15.75 \$667.28 \$330.60 \$123,0 \$31,607.49 \$37,758.01 \$4,200.00 \$3.96	\$15,361.59 \$2,721.60 \$787.50 \$2,299.50 \$1,334.56 \$991.80 \$20.91 \$31,607.49 \$37,758.01 \$4,200.00	\$291.43 \$12,222.22 \$10.00 \$15.00 \$2,404.69 \$1,903.46 \$151 \$20,094.00 \$23,158.98 \$2,750.00 \$5.41	\$25,354.41 \$2,640.00 \$750.00 \$2,190.00 \$4,809.38 \$5,710.38 966.74 \$20,094.00 \$23,158.98 \$2,750.00 \$85,835.06	\$174.65 \$13,980.00 \$11.65 \$17.48 \$500.00 \$350.00 \$108, \$1,500.00 \$7,000.00 \$4.89	\$15,194.55 \$3,019.68 \$873.75 \$2,552.08 \$1,000.00 \$1,050.00 340.98 \$1,500.00 \$7,000.00 \$6,000.00
7 8 9 10 11 Section 1 2 3	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – From N Perry St to N Clayton St. AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. Thermoplastic STRIPING 24" STOP BAR X-WALK per walking Thermoplastic (8" SOLID WHITE) SEWER MANHOLE RINGS/RISERS WATER VALVE RINGS/RISERS TH: Paper Mill Rd./Springlake Rd. Mobilization Traffic Control Temporary Striping FULL MILL ASPH CONC PVMT (GDOT #432-5010)	0.216 75 146 2 3 Section 1 1 1 15,866	TON MILES LF SY EACH LF G Total LUMP LUMP LUMP	\$150.00 \$15,000.00 \$12.50 \$18.75 \$312.50 \$312.50 \$106 \$7,500.00 \$15,000.00 \$6,500.00	\$13,050.00 \$3,240.00 \$937.50 \$2,737.50 \$625.00 \$937.50 5,714.50 \$7,500.00 \$15,000.00 \$6,500.00	\$215.00 \$890.00 \$7.22 \$4.10 \$400.00 \$106 \$14,490.00 \$64,155.00 \$6,168.00	\$18,705.00 \$192.24 \$541.50 \$598.60 \$800.00 \$1,200.00 136.34 \$14,490.00 \$64,155.00 \$6,168.00	\$176.57 \$12,600.00 \$10.50 \$15.75 \$667.28 \$330.60 \$123, \$31,607.49 \$37,758.01 \$4,200.00	\$15,361.59 \$2,721.60 \$787.50 \$2,299.50 \$1,334.56 \$991.80 \$20.91 \$31,607.49 \$37,758.01 \$4,200.00	\$291.43 \$12,222.22 \$10.00 \$15.00 \$2,404.69 \$1,903.46 \$151. \$20,094.00 \$23,158.98 \$2,750.00	\$25,354.41 \$2,640.00 \$750.00 \$2,190.00 \$4,809.38 \$5,710.38 966.74 \$20,094.00 \$23,158.98 \$2,750.00	\$174.65 \$13,980.00 \$11.65 \$17.48 \$500.00 \$350.00 \$108, \$1,500.00 \$7,000.00 \$6,000.00	\$15,194.55 \$3,019.68 \$873.75 \$2,552.08 \$1,000.00 \$1,050.00 340.98 \$1,500.00 \$7,000.00 \$6,000.00

1	1.5 INCHES RECYCLED ASPH CONC 12.5MM												
	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM	252	TON	0150.00	# ## 000 00	#1 7 0.00	# 62.24 0.00	0172.21	064 424 12	0121 67	#40.001.04	015110	Φ.Σ.C. 2.42CO
	MATL & H LIME (165LB/SY) – From Pike to The	372	TON	\$150.00	\$55,800.00	\$170.00	\$63,240.00	\$173.21	\$64,434.12	\$131.67	\$48,981.24	\$151.19	\$56,242.68
6	Carolina Apt Complex. AND BITUM TACK COAT												
	STRIPING DOUBLE SOLID 5" YELLOW line												
	Thermoplastic, INCL. REFLECTIVE PAVEMENT	0.71	MILES	\$15,000.00	\$10,650.00	\$10,257.00	\$7,282.47	\$12,600.00	\$8,946.00	\$12,000.00	\$8,520.00	\$13,980.00	\$9,925.80
7	MARKERS all colors.												
8	STRIPING SOLID 5" WHITE line Thermoplastic	1.83	MILES	\$7,500.00	\$13,725.00	\$4,488.00	\$8,213.04	\$6,300.00	\$11,529.00	\$6,000.00	\$10,980.00	\$6,990.00	\$12,791.70
9	STRIPING SKIP 5" WHITE line Thermoplastic	0.06	MILES	\$5,000.00	\$300.00	\$4,171.20	\$250.27	\$4,200.00	\$252.00	\$4,000.00	\$240.00	\$4,660.00	\$279.60
10	Thermoplastic STRIPING 24" STOP BAR	25	LF	\$12.50	\$312.50	\$7.22	\$180.50	\$10.50	\$262.50	\$10.00	\$250.00	\$11.65	\$291.25
11	X-WALK per walking Thermoplastic (8" SOLID WHITE)	123	SY	\$18.75	\$2,306.25	\$4.10	\$504.30	\$15.75	\$1,937.25	\$15.00	\$1,845.00	\$17.48	\$2,150.04
12	THERMOPLASTIC PVMT MARKING ARROW	10	EACH	\$125.00	\$1,250.00	\$177.00	\$1,770.00	\$105.00	\$1,050.00	\$100.00	\$1,000.00	\$116.50	\$1,165.00
13	THERMOPLASTIC PVMT MARKING WORD	5	EACH	\$250.00	\$1,250.00	\$222.00	\$1,110.00	\$210.00	\$1,050.00	\$200.00	\$1,000.00	\$233.00	\$1,165.00
	YELLOW THERMOPLASTIC DETAIL "B"												
	(GDOT T-14) INCL. REFLECTIVE PAVEMENT	443	SY	\$9.50	\$4,208.50	\$20.86	\$9,240.98	\$7.88	\$3,490.84	\$7.50	\$3,322.50	\$8.74	\$3,871.82
14	MARKERS all colors.												
	WHITE THERMOPLASTIC DETAIL "A" (GDOT T												
	14) INCL. REFLECTIVE PAVEMENT MARKERS	100	SY	\$9.50	\$950.00	\$20.55	\$2,055.00	\$7.88	\$788.00	\$7.50	\$750.00	\$8.74	\$874.00
15	all colors.												
16	WATER VALVE RINGS/RISERS	2	EACH	\$312.50	\$625.00	\$400.00	\$800.00	\$667.28	\$1,334.56	\$1,560.10	\$3,120.20	\$350.00	\$700.00
17	SEWER VALVE RINGS/RISERS	2	EACH	\$312.50	\$625.00	\$400.00	\$800.00	\$330.37	\$660.74	\$1,374.60	\$2,749.20	\$500.00	\$1,000.00
G	T C IN CL I NI II I	Section	H Total	\$366	,833.75	\$430,	057.56	\$426,0	066.63	\$375	,749.58	\$384,	202.43
Section	1: Saddle Shoals Neighborhood.		110.00	Φ π π α α α α	Φ π 500 00	010.055.00	#10.055.00	#25 050 02	#25.050.02	A 127 00	04.127.00	#1 000 00	#1 000 00
2	Mobilization Traffic Control	1	LUMP LUMP	\$7,500.00	\$7,500.00 \$11,500.00	\$19,855.00 \$29,405.00	\$19,855.00	\$35,959.92	\$35,959.92 \$12,988.50	\$4,137.00	\$4,137.00	\$1,000.00 \$12,000.00	\$1,000.00
	EDGE (6 FT WIDE EACH LANE) MILL ASPH	1	LUMP	\$11,500.00	\$11,500.00	\$29,405.00	\$29,405.00	\$12,988.50	\$12,988.50	\$23,750.00	\$23,750.00	\$12,000.00	\$12,000.00
3	CONC PVMT(GDOT #432-5010)	10,864	SY	\$2.95	\$32,048.80	\$9.00	\$97,776.00	\$3.88	\$42,152.32	\$7.82	\$84,956.48	\$6.08	\$66,053.12
4	FULL MILL ASPH CONC PVMT FOR SADDLE SHOAL TRL ONLY.	2,220	SY	\$2.95	\$6,549.00	\$4.90	\$10,878.00	\$4.44	\$9,856.80	\$10.15	\$22,533.00	\$7.78	\$17,271.60
	1.5 INCHES RECYCLED ASPH CONC 9.5MM												
	SUPERPAVE, GP 2 ONLY (SURFACE COURSE),	2,035	TON	\$150.00	\$305,250.00	\$165.00	\$335,775.00	\$147.30	\$299,755.50	\$130.72	\$266,015.20	\$140.03	\$284,961.05
5	INCL BITUM MATL & H LIME (165LB/SY)	-,	,	2-2		,			,	· · · · · · · · · · · · · · · · · · ·	,		
6	MANHOLES/VALVES RINGS/RISERS	40	EACH	\$312.50	\$12,500.00	\$400.00	\$16,000.00	\$610.13	\$24,405.20	\$1,586.59	\$63,463.60	\$350.00	\$14,000.00
7	Thermoplastic STRIPING 24" STOP BAR	12	LF	\$12.50	\$150.00	\$137.50	\$1,650.00	\$10.50	\$126.00	\$10.00	\$120.00	\$11.65	\$139.80
		Section	n I Total	\$375	,497.80	\$511,	339.00	\$425,2	244.24	\$464	,975.28	\$395.	425.57
Section	ı J: Warranty and Bonds			15,000.00		6,400.00		9,126.07		111,764.08		25,0	00.55
	BID TOTAL				3,923.35	\$2,036	5,418.50	\$1,984	,466.32	\$2,089	9,392.11	\$1,926	5,475.98

					Paving Buyer, b/a Magnum aving	Stewart B	rothers, Inc.	d/b/a Sunb	s Company selt Asphalt es, Inc.	Vertical Earth, Inc.		
ITEM		APP	ROX.	UNIT		UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	
#	DESCRIPTION	Q.	ΓY.	PRICE	TOTAL PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	
Section	1 A: Stone Mountain St.											
1	Mobilization	1	LUMP	\$1,522.50	\$1,522.50	\$16,900.36	\$16,900.36	\$948.40	\$948.40	\$2,475.00	\$2,475.00	
2	Traffic Control (GDOT #150-1000)	1	LUMP	\$6,090.00	\$6,090.00	\$30,088.00	\$30,088.00	\$500.00	\$500.00	\$10,534.34	\$10,534.34	
3	Temporary Striping	1	LUMP	\$5,075.00	\$5,075.00	\$4,400.00	\$4,400.00	\$169.10	\$169.10	\$3,850.00	\$3,850.00	
4	FULL MILL ASPH CONC PVMT (GDOT #432-5010)	5,894	SY	\$4.17	\$24,577.98	\$6.91	\$40,727.54	\$1.40	\$8,251.60	\$3.60	\$21,218.40	
5	1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT	500	TON	\$133.03	\$66,515.00	\$155.00	\$77,500.00	\$150.00	\$75,000.00	\$129.23	\$64,615.00	

	T							1	ı		
	1.5 INCHES RECYCLED ASPH CONC 12.5MM										
	SUPERPAVE, GP 2 ONLY, INCL BITUM MATL &	500	TON	\$133.03	\$66,515.00	\$155.00	\$77,500.00	\$150.00	\$75,000.00	\$129.23	\$64,615.00
6	H LIME (165LB/SY) AND BITUM TACK COAT										
	STRIPING DOUBLE SOLID 5" YELLOW line										
	Thermoplastic, INCL. REFLECTIVE PAVEMENT	0.29	MILES	\$14,007.00	\$4,062.03	\$3,520.00	\$1,020.80	\$13,200.00	\$3,828.00	\$7,700.00	\$2,233.00
7	MARKERS all colors.						-				
8	STRIPING SOLID 5" WHITE line Thermoplastic	0.6	MILES	\$7,003.50	\$4,202.10	\$3,520.00	\$2,112.00	\$6,600.00	\$3,960.00	\$3,300.00	\$1,980.00
	STRIPING SKIP 5" WHITE line Thermoplastic	0.08	MILES	\$4,669.00	\$373.52	\$3,520.00	\$281.60	\$4,400.00	\$352.00	\$3,025.00	\$242.00
10	Thermoplastic STRIPING 24" STOP BAR	24	LF	\$11.67	\$280.08	\$8.25	\$198.00	\$11.00	\$264.00	\$9.90	\$237.60
10	X-WALK per walking Thermoplastic	27	LI	\$11.07	\$200.00	\$6.25	\$176.00	\$11.00	\$204.00	\$7.70	\$237.00
11	(8" SOLID WHITE)	126	SY	\$17.51	\$2,206.26	\$8.25	\$1,039.50	\$16.50	\$2,079.00	\$16.50	\$2,079.00
12	THERMOPLASTIC PVMT MARKING ARROW	5	EACH	\$116.73	\$583.65	\$137.50	\$687.50	\$110.00	\$550.00	\$220.00	\$1,100.00
13	THERMOPLASTIC PVMT MARKING WORD	1						_			
13	YELLOW THERMOPLASTIC DETAIL "B"	1	EACH	\$350.18	\$350.18	\$220.00	\$220.00	\$220.00	\$220.00	\$385.00	\$385.00
			CT.	00.76	#1 00 7 40	00.25	0040.75	00.25	0040.75	011.00	01.265.00
	(GDOT T-14) INCL. REFLECTIVE PAVEMENT	115	SY	\$8.76	\$1,007.40	\$8.25	\$948.75	\$8.25	\$948.75	\$11.00	\$1,265.00
14	MARKERS all colors.										
	WHITE THERMOPLASTIC DETAIL "A" (GDOT T										
	14) INCL. REFLECTIVE PAVEMENT MARKERS	115	SY	\$8.76	\$1,007.40	\$8.25	\$948.75	\$8.25	\$948.75	\$11.00	\$1,265.00
15	all colors.										
16	WATER VALVE RINGS/RISERS	1	EACH	\$507.50	\$507.50	\$50.00	\$50.00	\$300.00	\$300.00	\$384.15	\$384.15
		Section	ı A Total	\$184	1,875.60	\$254	,622.80	\$173,	319.60	\$178	,478.49
Section	B: Wilson Ct.										
1	Mobilization	1	LUMP	\$1,522.50	\$1,522.50	\$16,900.10	\$16,900.10	\$143.50	\$143.50	\$1,980.00	\$1,980.00
2	Traffic Control	1	LUMP	\$1,015.00	\$1,015.00	\$3,761.00	\$3,761.00	\$150.00	\$150.00	\$5,030.93	\$5,030.93
3	FULL MILL ASPH CONC PVMT	1090	SY	\$4.90	\$5,341.00	\$6.91	\$7,531.90	\$2.00	\$2,180.00	\$7.25	\$7,902.50
	1.5 INCHES RECYCLED ASPH CONC 9.5MM										
	SUPERPAVE, GP 2 ONLY (SURFACE COURSE),			04 50 4 =	****	****				****	***
	INCL BITUM MATL & H LIME (165LB/SY) AND	93	TON	\$160.17	\$14,895.81	\$145.00	\$13,485.00	\$153.50	\$14,275.50	\$203.87	\$18,959.91
4	BITUM TACK COAT										
	1.5 INCHES RECYCLED ASPH CONC 12.5MM										
	1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2, INCL BITUM MATL &										
	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL &	30	TON	\$215.75	\$6,472.50	\$463.00	\$13,890.00	\$150.00	\$4,500.00	\$203.93	\$6,117.90
	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT	30	TON	\$215.75	\$6,472.50	\$463.00	\$13,890.00	\$150.00	\$4,500.00	\$203.93	\$6,117.90
5	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL &				. ,				. ,	,	
5	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT		TON		\$6,472.50		\$13,890.00 568.00		\$4,500.00 249.00	,	\$6,117.90 991.24
5 Section	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT C: S. Clayton St.		n B Total	\$29	,246.81	\$55,	568.00	\$21,2	249.00	\$39,	991.24
5 Section	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT C: S. Clayton St. Mobilization	Section 1	B Total	\$29 \$2,537.50	\$2,537.50	\$55, \$16,900.47	\$16,900.47	\$21,2 \$4,011.00	249.00 \$4,011.00	\$39, \$2,475.00	991.24 \$2,475.00
5 Section 1 2	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT C: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000)	Section 1	LUMP	\$29 \$2,537.50 \$10,657.50	\$2,537.50 \$10,657.50	\$55, \$16,900.47 \$45,132.00	\$16,900.47 \$45,132.00	\$21,2 \$4,011.00 \$5,000.00	\$4,011.00 \$5,000.00	\$39, \$2,475.00 \$16,803.83	\$2,475.00 \$16,803.83
5 Section 1 2 3	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT C: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping	1	LUMP LUMP LUMP LUMP	\$2,537.50 \$10,657.50 \$10,150.00	\$2,537.50 \$10,657.50 \$10,150.00	\$55, \$16,900.47 \$45,132.00 \$4,400.00	\$16,900.47 \$45,132.00 \$4,400.00	\$21,2 \$4,011.00 \$5,000.00 \$250.00	\$4,011.00 \$5,000.00 \$250.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60	\$2,475.00 \$16,803.83 \$6,397.60
5 Section 1 2	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT C: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT	Section 1	LUMP LUMP LUMP LUMP	\$29 \$2,537.50 \$10,657.50	\$2,537.50 \$10,657.50	\$55, \$16,900.47 \$45,132.00	\$16,900.47 \$45,132.00	\$21,2 \$4,011.00 \$5,000.00	\$4,011.00 \$5,000.00	\$39, \$2,475.00 \$16,803.83	\$2,475.00 \$16,803.83
5 Section 1 2 3	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT AND BITUM TACK COAT C: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM	Section 1 1 1 1 19,840	LUMP LUMP LUMP SY	\$29 \$2,537.50 \$10,657.50 \$10,150.00 \$4.00	\$2,537.50 \$10,657.50 \$10,150.00 \$79,360.00	\$55, \$16,900.47 \$45,132.00 \$4,400.00 \$6.91	\$16,900.47 \$45,132.00 \$4,400.00 \$137,094.40	\$21,2 \$4,011.00 \$5,000.00 \$250.00 \$1.10	\$49.00 \$4,011.00 \$5,000.00 \$250.00 \$21,824.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12	\$2,475.00 \$16,803.83 \$6,397.60 \$42,060.80
5 Section 1 2 3 4	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT AND BITUM TACK COAT C: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL &	1	LUMP LUMP LUMP LUMP	\$2,537.50 \$10,657.50 \$10,150.00	\$2,537.50 \$10,657.50 \$10,150.00	\$55, \$16,900.47 \$45,132.00 \$4,400.00	\$16,900.47 \$45,132.00 \$4,400.00	\$21,2 \$4,011.00 \$5,000.00 \$250.00	\$4,011.00 \$5,000.00 \$250.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12	\$2,475.00 \$16,803.83 \$6,397.60
5 Section 1 2 3	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT AND BITUM TACK COAT C: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT	Section 1 1 1 1 19,840	LUMP LUMP LUMP SY	\$29 \$2,537.50 \$10,657.50 \$10,150.00 \$4.00	\$2,537.50 \$10,657.50 \$10,150.00 \$79,360.00	\$55, \$16,900.47 \$45,132.00 \$4,400.00 \$6.91	\$16,900.47 \$45,132.00 \$4,400.00 \$137,094.40	\$21,2 \$4,011.00 \$5,000.00 \$250.00 \$1.10	\$49.00 \$4,011.00 \$5,000.00 \$250.00 \$21,824.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12	\$2,475.00 \$16,803.83 \$6,397.60 \$42,060.80
5 Section 1 2 3 4	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT AND BITUM TACK COAT C: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT 1.5 INCHES RECYCLED ASPH CONC 12.5MM	Section 1 1 1 1 19,840	LUMP LUMP LUMP SY	\$29 \$2,537.50 \$10,657.50 \$10,150.00 \$4.00	\$2,537.50 \$10,657.50 \$10,150.00 \$79,360.00	\$55, \$16,900.47 \$45,132.00 \$4,400.00 \$6.91	\$16,900.47 \$45,132.00 \$4,400.00 \$137,094.40	\$21,2 \$4,011.00 \$5,000.00 \$250.00 \$1.10	\$49.00 \$4,011.00 \$5,000.00 \$250.00 \$21,824.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12	\$2,475.00 \$16,803.83 \$6,397.60 \$42,060.80
5 Section 1 2 3 4	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT C: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM	Section 1 1 1 1 19,840	LUMP LUMP LUMP SY	\$29 \$2,537.50 \$10,657.50 \$10,150.00 \$4.00	\$2,537.50 \$10,657.50 \$10,150.00 \$79,360.00	\$55, \$16,900.47 \$45,132.00 \$4,400.00 \$6.91	\$16,900.47 \$45,132.00 \$4,400.00 \$137,094.40	\$21,2 \$4,011.00 \$5,000.00 \$250.00 \$1.10	\$49.00 \$4,011.00 \$5,000.00 \$250.00 \$21,824.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12	\$2,475.00 \$16,803.83 \$6,397.60 \$42,060.80
5 Section 1 2 3 4	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT C: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – FOR	Section 1 1 1 1 19,840	LUMP LUMP LUMP SY	\$29 \$2,537.50 \$10,657.50 \$10,150.00 \$4.00	\$2,537.50 \$10,657.50 \$10,150.00 \$79,360.00	\$55, \$16,900.47 \$45,132.00 \$4,400.00 \$6.91	\$16,900.47 \$45,132.00 \$4,400.00 \$137,094.40	\$21,2 \$4,011.00 \$5,000.00 \$250.00 \$1.10	\$49.00 \$4,011.00 \$5,000.00 \$250.00 \$21,824.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12	\$2,475.00 \$16,803.83 \$6,397.60 \$42,060.80
5 Section 1 2 3 4	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT C: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM	Section 1 1 1 1 19,840 1,686	LUMP LUMP LUMP LUMP SY TON	\$29 \$2,537.50 \$10,657.50 \$10,150.00 \$4.00 \$134.26	\$2,537.50 \$10,657.50 \$10,150.00 \$79,360.00 \$226,362.36	\$55, \$16,900.47 \$45,132.00 \$4,400.00 \$6.91 \$155.00	\$16,900.47 \$45,132.00 \$4,400.00 \$137,094.40 \$261,330.00	\$21,2 \$4,011.00 \$5,000.00 \$250.00 \$1.10 \$150.00	\$49.00 \$4,011.00 \$5,000.00 \$250.00 \$21,824.00 \$252,900.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12 \$127.35	991.24 \$2,475.00 \$16,803.83 \$6,397.60 \$42,060.80 \$214,712.10
5 Section 1 2 3 4	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT E: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – FOR NORTHBOUND LANE ONLY (From Church St to Crogan St). AND BITUM TACK COAT	Section 1 1 1 1 19,840 1,686	LUMP LUMP LUMP LUMP SY TON	\$29 \$2,537.50 \$10,657.50 \$10,150.00 \$4.00 \$134.26	\$2,537.50 \$10,657.50 \$10,150.00 \$79,360.00 \$226,362.36	\$55, \$16,900.47 \$45,132.00 \$4,400.00 \$6.91 \$155.00	\$16,900.47 \$45,132.00 \$4,400.00 \$137,094.40 \$261,330.00	\$21,2 \$4,011.00 \$5,000.00 \$250.00 \$1.10 \$150.00	\$49.00 \$4,011.00 \$5,000.00 \$250.00 \$21,824.00 \$252,900.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12 \$127.35	991.24 \$2,475.00 \$16,803.83 \$6,397.60 \$42,060.80 \$214,712.10
5 Section 1 2 3 4	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT E: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – FOR NORTHBOUND LANE ONLY (From Church St to	1 1 1 1 19,840 1,686	LUMP LUMP LUMP SY TON	\$29 \$2,537.50 \$10,657.50 \$10,150.00 \$4.00 \$134.26	\$2,537.50 \$10,657.50 \$10,150.00 \$79,360.00 \$226,362.36	\$55, \$16,900.47 \$45,132.00 \$4,400.00 \$6.91 \$155.00	\$16,900.47 \$45,132.00 \$4,400.00 \$137,094.40 \$261,330.00	\$21,2 \$4,011.00 \$5,000.00 \$250.00 \$1.10 \$150.00	\$49.00 \$4,011.00 \$5,000.00 \$250.00 \$21,824.00 \$252,900.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12 \$127.35	991.24 \$2,475.00 \$16,803.83 \$6,397.60 \$42,060.80 \$214,712.10
5 Section 1 2 3 4	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT E: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – FOR NORTHBOUND LANE ONLY (From Church St to Crogan St). AND BITUM TACK COAT	1 1 1 1 19,840 1,686	LUMP LUMP LUMP SY TON	\$29 \$2,537.50 \$10,657.50 \$10,150.00 \$4.00 \$134.26	\$2,537.50 \$10,657.50 \$10,150.00 \$79,360.00 \$226,362.36	\$55, \$16,900.47 \$45,132.00 \$4,400.00 \$6.91 \$155.00	\$16,900.47 \$45,132.00 \$4,400.00 \$137,094.40 \$261,330.00	\$21,2 \$4,011.00 \$5,000.00 \$250.00 \$1.10 \$150.00	\$4,011.00 \$5,000.00 \$250.00 \$21,824.00 \$252,900.00 \$45,000.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12 \$127.35	\$2,475.00 \$16,803.83 \$6,397.60 \$42,060.80 \$214,712.10
5 Section 1 2 3 4	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT E: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – FOR NORTHBOUND LANE ONLY (From Church St to Crogan St). AND BITUM TACK COAT	1 1 1 1 19,840 1,686	LUMP LUMP LUMP SY TON	\$29 \$2,537.50 \$10,657.50 \$10,150.00 \$4.00 \$134.26	\$2,537.50 \$10,657.50 \$10,150.00 \$79,360.00 \$226,362.36	\$55, \$16,900.47 \$45,132.00 \$4,400.00 \$6.91 \$155.00	\$16,900.47 \$45,132.00 \$4,400.00 \$137,094.40 \$261,330.00 \$138,900.00	\$21,2 \$4,011.00 \$5,000.00 \$250.00 \$1.10 \$150.00	\$49.00 \$4,011.00 \$5,000.00 \$250.00 \$21,824.00 \$252,900.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12 \$127.35	991.24 \$2,475.00 \$16,803.83 \$6,397.60 \$42,060.80 \$214,712.10
5 Section 1 2 3 4	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT AND BITUM TACK COAT C: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – FOR NORTHBOUND LANE ONLY (From Church St to Crogan St). AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors.	1 1 1 1 19,840 1,686	LUMP LUMP LUMP SY TON	\$29 \$2,537.50 \$10,657.50 \$10,150.00 \$4.00 \$134.26	\$2,537.50 \$10,657.50 \$10,150.00 \$79,360.00 \$226,362.36	\$55, \$16,900.47 \$45,132.00 \$4,400.00 \$6.91 \$155.00	\$16,900.47 \$45,132.00 \$4,400.00 \$137,094.40 \$261,330.00 \$138,900.00	\$21,2 \$4,011.00 \$5,000.00 \$250.00 \$1.10 \$150.00	\$4,011.00 \$5,000.00 \$250.00 \$21,824.00 \$252,900.00 \$45,000.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12 \$127.35	\$2,475.00 \$16,803.83 \$6,397.60 \$42,060.80 \$214,712.10 \$46,962.00
5 Section 1 2 3 4	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT AND BITUM TACK COAT C: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – FOR NORTHBOUND LANE ONLY (From Church St to Crogan St). AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. STRIPING SKIP & SOLID 5" YELLOW line	1 1 1 1 19,840 1,686	LUMP LUMP LUMP SY TON TON	\$29 \$2,537.50 \$10,657.50 \$10,150.00 \$4.00 \$134.26 \$142.42	\$2,537.50 \$10,657.50 \$10,150.00 \$79,360.00 \$226,362.36 \$42,726.00	\$55, \$16,900.47 \$45,132.00 \$4,400.00 \$6.91 \$155.00 \$463.00	\$16,900.47 \$45,132.00 \$4,400.00 \$137,094.40 \$261,330.00 \$138,900.00 \$718.08	\$21,2 \$4,011.00 \$5,000.00 \$250.00 \$1.10 \$150.00 \$13,200.00	\$4,011.00 \$5,000.00 \$250.00 \$21,824.00 \$252,900.00 \$45,000.00 \$2,692.80	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12 \$127.35 \$156.54	\$2,475.00 \$16,803.83 \$6,397.60 \$42,060.80 \$214,712.10 \$46,962.00
5 Section 1 2 3 4 5 6	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT AND BITUM TACK COAT E.S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – FOR NORTHBOUND LANE ONLY (From Church St to Crogan St). AND BITUM TACK COAT TRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors.	1 1 1 1 19,840 1,686	LUMP LUMP LUMP SY TON TON	\$29 \$2,537.50 \$10,657.50 \$10,150.00 \$4.00 \$134.26	\$2,537.50 \$10,657.50 \$10,150.00 \$79,360.00 \$226,362.36	\$55, \$16,900.47 \$45,132.00 \$4,400.00 \$6.91 \$155.00	\$16,900.47 \$45,132.00 \$4,400.00 \$137,094.40 \$261,330.00 \$138,900.00	\$21,2 \$4,011.00 \$5,000.00 \$250.00 \$1.10 \$150.00	\$4,011.00 \$5,000.00 \$250.00 \$21,824.00 \$252,900.00 \$45,000.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12 \$127.35	\$2,475.00 \$16,803.83 \$6,397.60 \$42,060.80 \$214,712.10 \$46,962.00
5 Section 1 2 3 4 5 6 7	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT AND BITUM TACK COAT C: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – FOR NORTHBOUND LANE ONLY (From Church St to Crogan St). AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. STRIPING SKIP & SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors.	1	LUMP LUMP LUMP SY TON TON MILES	\$29 \$2,537.50 \$10,657.50 \$10,150.00 \$4.00 \$134.26 \$142.42 \$14,007.00 \$11,672.50	\$2,537.50 \$10,657.50 \$10,150.00 \$79,360.00 \$226,362.36 \$42,726.00 \$2,857.43	\$55, \$16,900.47 \$45,132.00 \$4,400.00 \$6.91 \$155.00 \$463.00 \$3,520.00	\$16,900.47 \$45,132.00 \$4,400.00 \$137,094.40 \$261,330.00 \$138,900.00 \$718.08	\$21,2 \$4,011.00 \$5,000.00 \$250.00 \$1.10 \$150.00 \$13,200.00 \$11,000.00	\$49.00 \$4,011.00 \$5,000.00 \$250.00 \$21,824.00 \$252,900.00 \$45,000.00 \$7,260.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12 \$127.35 \$156.54 \$7,700.00 \$3,300.00	991.24 \$2,475.00 \$16,803.83 \$6,397.60 \$42,060.80 \$214,712.10 \$46,962.00 \$1,570.80
5 Section 1 2 3 4 5 6 7	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT AND BITUM TACK COAT C: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – FOR NORTHBOUND LANE ONLY (From Church St to Crogan St). AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. STRIPING SOLID 5" WHITE line Thermoplastic STRIPING SOLID 5" WHITE line Thermoplastic	1 1 1 19,840 1,686 300 0.204 0.66	LUMP LUMP LUMP SY TON TON MILES MILES	\$29 \$2,537.50 \$10,657.50 \$10,150.00 \$4.00 \$134.26 \$142.42 \$14,007.00 \$11,672.50	\$2,537.50 \$10,657.50 \$10,150.00 \$79,360.00 \$226,362.36 \$42,726.00 \$2,857.43 \$7,703.85 \$8,614.31	\$55, \$16,900.47 \$45,132.00 \$4,400.00 \$6.91 \$155.00 \$463.00 \$3,520.00 \$3,520.00	\$16,900.47 \$45,132.00 \$4,400.00 \$137,094.40 \$261,330.00 \$138,900.00 \$718.08 \$2,323.20 \$4,329.60	\$21,2 \$4,011.00 \$5,000.00 \$250.00 \$1.10 \$150.00 \$13,200.00 \$11,000.00 \$6,600.00	\$49.00 \$4,011.00 \$5,000.00 \$250.00 \$21,824.00 \$252,900.00 \$45,000.00 \$7,260.00 \$8,118.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12 \$127.35 \$156.54 \$7,700.00 \$3,300.00	\$2,475.00 \$16,803.83 \$6,397.60 \$42,060.80 \$214,712.10 \$46,962.00 \$1,570.80 \$2,178.00 \$4,059.00
5 Section 1 2 3 4 5 6 7 8 9 10	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT AND BITUM TACK COAT E.S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – FOR NORTHBOUND LANE ONLY (From Church St to Crogan St). AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. STRIPING SKIP & SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. STRIPING SOLID 5" WHITE line Thermoplastic STRIPING SOLID 5" WHITE line Thermoplastic	1 1 1 19,840 1,686 300 0.204 0.66	LUMP LUMP LUMP SY TON TON MILES MILES MILES	\$29 \$2,537.50 \$10,657.50 \$10,150.00 \$4.00 \$134.26 \$142.42 \$14,007.00 \$11,672.50 \$7,003.50 \$4,669.00	\$2,537.50 \$10,657.50 \$10,150.00 \$79,360.00 \$226,362.36 \$42,726.00 \$2,857.43 \$7,703.85 \$8,614.31 \$2,801.40	\$55, \$16,900.47 \$45,132.00 \$4,400.00 \$6.91 \$155.00 \$463.00 \$3,520.00 \$3,520.00 \$3,520.00	\$16,900.47 \$45,132.00 \$4,400.00 \$137,094.40 \$261,330.00 \$138,900.00 \$718.08 \$2,323.20 \$4,329.60 \$2,112.00	\$21,2 \$4,011.00 \$5,000.00 \$250.00 \$1.10 \$150.00 \$13,200.00 \$11,000.00 \$6,600.00 \$4,400.00	\$49.00 \$4,011.00 \$5,000.00 \$250.00 \$21,824.00 \$252,900.00 \$45,000.00 \$7,260.00 \$8,118.00 \$2,640.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12 \$127.35 \$156.54 \$7,700.00 \$3,300.00 \$3,300.00 \$3,025.00	\$2,475.00 \$16,803.83 \$6,397.60 \$42,060.80 \$214,712.10 \$46,962.00 \$1,570.80 \$2,178.00 \$4,059.00 \$1,815.00
5 Section 1 2 3 4 5 6 7	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT AND BITUM TACK COAT C: S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – FOR NORTHBOUND LANE ONLY (From Church St to Crogan St). AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. STRIPING SKIP & SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. STRIPING SOLID 5" WHITE line Thermoplastic STRIPING SKIP 5" WHITE line Thermoplastic	1 1 1 19,840 1,686 300 0.204 0.66	LUMP LUMP LUMP SY TON TON MILES MILES	\$29 \$2,537.50 \$10,657.50 \$10,150.00 \$4.00 \$134.26 \$142.42 \$14,007.00 \$11,672.50	\$2,537.50 \$10,657.50 \$10,150.00 \$79,360.00 \$226,362.36 \$42,726.00 \$2,857.43 \$7,703.85 \$8,614.31	\$55, \$16,900.47 \$45,132.00 \$4,400.00 \$6.91 \$155.00 \$463.00 \$3,520.00 \$3,520.00	\$16,900.47 \$45,132.00 \$4,400.00 \$137,094.40 \$261,330.00 \$138,900.00 \$718.08 \$2,323.20 \$4,329.60	\$21,2 \$4,011.00 \$5,000.00 \$250.00 \$1.10 \$150.00 \$13,200.00 \$11,000.00 \$6,600.00	\$49.00 \$4,011.00 \$5,000.00 \$250.00 \$21,824.00 \$252,900.00 \$45,000.00 \$7,260.00 \$8,118.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12 \$127.35 \$156.54 \$7,700.00 \$3,300.00	\$2,475.00 \$16,803.83 \$6,397.60 \$42,060.80 \$214,712.10 \$46,962.00 \$1,570.80 \$2,178.00 \$4,059.00
5 Section 1 2 3 4 5 6 7 8 9 10	SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (165LB/SY), AND BITUM TACK COAT AND BITUM TACK COAT AND BITUM TACK COAT E.S. Clayton St. Mobilization Traffic Control (GDOT #150-1000) Temporary Striping FULL MILL ASPH CONC PVMT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) AND BITUM TACK COAT 1.5 INCHES RECYCLED ASPH CONC 12.5MM SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM MATL & H LIME (165LB/SY) – FOR NORTHBOUND LANE ONLY (From Church St to Crogan St). AND BITUM TACK COAT STRIPING DOUBLE SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. STRIPING SKIP & SOLID 5" YELLOW line Thermoplastic, INCL. REFLECTIVE PAVEMENT MARKERS all colors. STRIPING SOLID 5" WHITE line Thermoplastic STRIPING SOLID 5" WHITE line Thermoplastic	1 1 1 19,840 1,686 300 0.204 0.66	LUMP LUMP LUMP SY TON TON MILES MILES MILES	\$29 \$2,537.50 \$10,657.50 \$10,150.00 \$4.00 \$134.26 \$142.42 \$14,007.00 \$11,672.50 \$7,003.50 \$4,669.00	\$2,537.50 \$10,657.50 \$10,150.00 \$79,360.00 \$226,362.36 \$42,726.00 \$2,857.43 \$7,703.85 \$8,614.31 \$2,801.40	\$55, \$16,900.47 \$45,132.00 \$4,400.00 \$6.91 \$155.00 \$463.00 \$3,520.00 \$3,520.00 \$3,520.00	\$16,900.47 \$45,132.00 \$4,400.00 \$137,094.40 \$261,330.00 \$138,900.00 \$718.08 \$2,323.20 \$4,329.60 \$2,112.00	\$21,2 \$4,011.00 \$5,000.00 \$250.00 \$1.10 \$150.00 \$13,200.00 \$11,000.00 \$6,600.00 \$4,400.00	\$49.00 \$4,011.00 \$5,000.00 \$250.00 \$21,824.00 \$252,900.00 \$45,000.00 \$7,260.00 \$8,118.00 \$2,640.00	\$39, \$2,475.00 \$16,803.83 \$6,397.60 \$2.12 \$127.35 \$156.54 \$7,700.00 \$3,300.00 \$3,300.00 \$3,025.00	\$2,475.00 \$16,803.83 \$6,397.60 \$42,060.80 \$214,712.10 \$46,962.00 \$1,570.80 \$2,178.00 \$4,059.00 \$1,815.00

12	THERMOPLASTIC PVMT MARKING ARROW	20	EACH	011672	¢2 260 44	¢127.50	£2.050.00	6110.00	62.000.00	6220.00	¢c 1c0 00	
13	THERMOPLASTIC PVMT MARKING ARROW THERMOPLASTIC PVMT MARKING WORD	28	EACH	\$116.73	\$3,268.44	\$137.50	\$3,850.00	\$110.00	\$3,080.00	\$220.00	\$6,160.00	
14	YELLOW THERMOPLASTIC DETAIL "B"	5	EACH	\$233.45	\$1,167.25	\$220.00	\$1,100.00	\$220.00	\$1,100.00	\$385.00	\$1,925.00	
		100	CXZ	00.76	01.060.70	00.25	£1.006.50	00.27	01.006.50	Ø11 00	#1 242 OO	
1.5	(GDOT T-14) INCL. REFLECTIVE PAVEMENT	122	SY	\$8.76	\$1,068.72	\$8.25	\$1,006.50	\$8.25	\$1,006.50	\$11.00	\$1,342.00	
15	MARKERS all colors. WHITE THERMOPLASTIC DETAIL "A" (GDOT T											
		601	CT.	#0. T 6	0.5.064.56	00.25	A 4 0 5 0 0 5	00.25	0405005	#11.00	06.611.00	
	14) INCL. REFLECTIVE PAVEMENT MARKERS	601	SY	\$8.76	\$5,264.76	\$8.25	\$4,958.25	\$8.25	\$4,958.25	\$11.00	\$6,611.00	
16	all colors.											
17	HANDICAP SYMBOL (5 FT X 5 FT)	5	EA	\$408.54	\$2,042.70	\$357.50	\$1,787.50	\$385.00	\$1,925.00	\$313.50	\$1,567.50	
18	WATER VALVE RINGS/RISERS	20	EACH	\$507.50	\$10,150.00	\$50.00	\$1,000.00	\$300.00	\$6,000.00	\$384.14	\$7,682.80	
19	SEWER VALVE RINGS/RISERS	12	EACH	\$507.50	\$6,090.00	\$50.00	\$600.00	\$300.00	\$3,600.00	\$384.14	\$4,609.68	
		Section	C Total	\$431	,996.97	\$632,	261.00	\$380,	011.55	\$377	,419.71	
Section	D: Applewood Dr.											
1	Mobilization	1	LUMP	\$1,522.50	\$1,522.50	\$16,900.50		\$5,000.00	\$5,000.00	\$1,980.00	\$1,980.00	
2	Traffic Control (GDOT #150-1000)	1	LUMP	\$3,045.00	\$3,045.00	\$11,283.00	\$11,283.00	\$704.50	\$704.50	\$6,130.93	\$6,130.93	
3	FULL MILL ASPH CONC PVMT	3,990	SY	\$4.00	\$15,960.00	\$6.91	\$27,570.90	\$1.10	\$4,389.00	\$2.30	\$9,177.00	
	1.5 INCHES RECYCLED ASPH CONC 9.5MM											
	SUPERPAVE, GP 2 ONLY (SURFACE COURSE),	340	TON	\$142.75	\$48,535.00	\$145.00	\$49,300.00	\$153.50	\$52,190.00	\$142.70	\$48,518.00	
	INCL BITUM MATL & H LIME (165LB/SY) AND	340	1011	φ1π2./3	Ψ-10,233.00	φ1-3.00	ψ 12,500.00	ψ100.00	ψ32,170.00	φ1π2.70	\$ 10,510.00	
4	BITUM TACK COAT											
	STRIPING DOUBLE SOLID 5" YELLOW line											
	Thermoplastic, INCL. REFLECTIVE PAVEMENT	0.23	MILES	\$14,007.00	\$3,221.61	\$3,520.00	\$809.60	\$13,200.00	\$3,036.00	\$7,700.00	\$1,771.00	
5	MARKERS all colors.											
		Section	D Total	\$72	,284.11	\$105,	864.00	\$65,3	19.50	\$67,	576.93	
Section	E: Culver St.											
1	Mobilization	1	LUMP	\$1,522.50	\$1,522.50	\$16,900.66	\$16,900.66	\$3,000.00	\$3,000.00	\$2,475.00	\$2,475.00	
2	Traffic Control (GDOT #150-1000)	1	LUMP		\$1,522.50	\$7,522.00	\$7,522.00	\$1,698.20	\$1,698.20	\$6,130.93	\$6,130.93	
3	Temporary Striping	1	LUMP	\$1,522.50	\$1,522.50	\$4,400.00	\$4,400.00	\$250.00	\$250.00	\$2,585.00	\$2,585.00	
4	FULL MILL ASPH CONC PVMT	1,974	SY	\$4.05	\$7,994.70	\$6.91	\$13,640.34	\$1.10	\$2,171.40	\$4.67	\$9,218.58	
	1.5 INCHES RECYCLED ASPH CONC 12.5MM											
	SUPERPAVE, GP 2 ONLY (SURFACE COURSE),	169	TON	\$144.50	\$24,420.50	\$155.00	\$26,195.00	\$150.00	\$25,350.00	\$173.71	\$29,356.99	
	INCL BITUM MATL & H LIME (165LB/SY) AND	107	1011	φ144.50	\$24,420.50	Φ133.00	Ψ20,173.00	φ150.00	\$23,330.00	Φ1/3./1	Ψ27,330.77	
5	BITUM TACK COAT											
	STRIPING DOUBLE SOLID 5" YELLOW line											
	Thermoplastic, INCL. REFLECTIVE PAVEMENT	0.125	MILES	\$14,007.00	\$1,750.88	\$3,520.00	\$440.00	\$13,200.00	\$1,650.00	\$7,700.00	\$962.50	
6	MARKERS all colors.											
7	STRIPING SOLID 5" WHITE line Thermoplastic	0.1	EACH	\$11,672.50	\$1,167.25	\$3,520.00	\$352.00	\$6,600.00	\$660.00	\$3,300.00	\$330.00	
8	WATER VALVE RINGS/RISERS	3	EACH	\$507.50	\$1,522.50	\$50.00	\$150.00	\$300.00	\$900.00	\$384.16	\$1,152.48	
9	SEWER MANHOLE RINGS/RISERS	2	EACH	\$507.50	\$1,015.00	\$50.00	\$100.00	\$300.00	\$600.00	\$384.15	\$768.30	
	TRAFFIC LOOP REPLACEMENT (6FT X 40 FT	1	LIIMD	\$18,000.00	\$18,000.00	\$4,180.00	\$4,180.00	\$4,235.00	\$4,235.00	\$6,050.00	\$6,050.00	
10	PRESENCE LOOPS). ALL INCLUDED	1	LUMP		·	φ 4 ,100.00	φ+,100.00	φ4,233.00	φ4,233.00		*	
		Section	E Total	\$60	,438.33	\$73,8	880.00	\$40,5	14.60	\$59,	029.78	
Section	F: Pike Blvd.											
1	Mobilization	1	LUMP	\$1,522.50	\$1,522.50	\$16,900.63	\$16,900.63	\$2,020.85	\$2,020.85	\$2,475.00	\$2,475.00	
2	Traffic Control	1	LUMP	\$1,522.50	\$1,522.50	\$11,283.00	\$11,283.00	\$1,000.00	\$1,000.00	\$6,130.93	\$6,130.93	
3	Temporary Striping	1	LUMP	\$1,522.50	\$1,522.50	\$4,400.00	\$4,400.00	\$250.00	\$250.00	\$2,662.00	\$2,662.00	
	EDGE (6 FT WIDE EACH LANE) MILL ASPH	1,587	SY	\$6.05	\$0.601.25	\$6.91	\$10,066,17	\$1.10	\$1.745.70	\$5.81	\$9,220.47	
4	CONC PVMT	1,38/	31	\$0.03	\$9,601.35	\$0.91	\$10,966.17	\$1.10	\$1,745.70	٥٥.٥١	\$9,220.47	
	1.5 INCHES RECYCLED ASPH CONC 12.5MM											
	SUPERPAVE, GP 2 ONLY (SURFACE COURSE),	294	TON	\$142.50	¢41 005 00	\$155.00	¢45 570 00	\$150.00	\$44 100 00	\$149.30	\$43,894.20	
	INCL BITUM MATL & H LIME (165LB/SY) AND	294	ION	\$142.30	\$41,895.00	\$155.00	\$45,570.00	\$130.00	\$44,100.00	\$149.50	\$43,894.20	
5	BITUM TACK COAT			<u> </u>								
6	SEWER MANHOLE RINGS/RISERS	2	EACH	\$507.50	\$1,015.00	\$50.00	\$100.00	\$300.00	\$600.00	\$384.16	\$768.32	
	STRIPING DOUBLE SOLID 5" YELLOW line											
	Thermoplastic, INCL. REFLECTIVE PAVEMENT	0.21	MILES	\$14,007.00	\$2,941.47	\$3,520.00	\$739.20	\$13,200.00	\$2,772.00	\$7,700.00	\$1,617.00	
7	MARKERS all colors.				•						-	
	7 MARKERS all colors. Section F Tota				,020.32	\$89	959.00	\$52.4	88.55	\$66,767.92		
	Section F Total				,020.32	Ψ0,,	757.00	Ψ32,¬	100.55	ФОО ,	101.72	

Section	G: Born St.										
1	Mobilization	1	LUMP	\$1,522.50	\$1,522.50	\$16,900.54	\$16,900.54	\$4,295,95	\$4,295.95	\$2,475.00	\$2,475.00
2	Traffic Control (GDOT #150-1000)	1	LUMP	\$3,045.00	\$3,045.00	\$11,283.00	\$11,283.00	\$2,500.00	\$2,500.00	\$6,130.93	\$6,130.93
3	Temporary Striping	1	LUMP	\$2,030.00	\$2,030.00	\$4,400.00	\$4,400.00	\$250.00	\$250.00	\$3,252.70	\$3,252.70
4	FULL MILL ASPH CONC PVMT	4,379	SY	\$4.90	\$21,457.10	\$6.91	\$30,258.89	\$1.10	\$4,816.90	\$3.36	\$14,713.44
· ·	1.5 INCHES RECYCLED ASPH CONC 12.5MM	7,577	51	φτ.20	Ψ21,437.10	ψ0.71	ψ50,250.07	ψ1.10	ψ+,010.70	ψ3.50	φ14,/13.44
	SUPERPAVE, GP 2, INCL BITUM MATL & H	372	TON	\$134.50	\$50,034.00	\$155.00	\$57,660.00	\$150.00	\$55,800.00	\$134.13	\$49,896.36
5	LIME (165LB/SY) AND BITUM TACK COAT	312	TON	\$134.50	\$50,054.00	\$133.00	\$57,000.00	\$150.00	\$55,600.00	\$154.15	\$77,670.50
	1.5 INCHES RECYCLED ASPH CONC 12.5MM										
	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM										
	MATL & H LIME (165LB/SY) – From N Perry St to	87	TON	\$151.40	\$13,171.80	\$463.00	\$40,281.00	\$150.00	\$13,050.00	\$140.59	\$12,231.33
6	N Clayton St. AND BITUM TACK COAT										
- 0	STRIPING DOUBLE SOLID 5" YELLOW line										
	Thermoplastic, INCL. REFLECTIVE PAVEMENT	0.216	MILEC	\$14,007.00	\$3,025.51	\$3,520.00	\$760.32	\$13,200.00	\$2,851.20	\$7,700.00	\$1,663.20
7	* '	0.216	MILES	\$14,007.00	\$3,025.51	\$3,520.00	\$760.32	\$13,200.00	\$2,831.20	\$7,700.00	\$1,663.20
	MARKERS all colors. Thermoplastic STRIPING 24" STOP BAR	7.5	TE	011.67	0075.05	00.25	0610.75	011.00	0025.00	#O OO	0742.50
- 8		75	LF	\$11.67	\$875.25	\$8.25	\$618.75	\$11.00	\$825.00	\$9.90	\$742.50
	X-WALK per walking Thermoplastic	146	SY	\$17.51	\$2,556.46	\$8.25	\$1,204.50	\$16.50	\$2,409.00	\$16.50	\$2,409.00
9	(8" SOLID WHITE)	2	EAGT	0505.50	#1.01.7.00	0.50.00		#200 00	0.000.00	020416	07/0 22
	SEWER MANHOLE RINGS/RISERS	2	EACH	\$507.50	\$1,015.00	\$50.00	\$100.00	\$300.00	\$600.00	\$384.16	\$768.32
11	WATER VALVE RINGS/RISERS	3	LF	\$507.50	\$1,522.50	\$50.00	\$150.00	\$300.00	\$900.00	\$384.15	\$1,152.45
G	H B 1400 D 1/2 1 1 1 D 1	Section	G Total	\$100	,255.12	\$163,	617.00	\$88,2	98.05	\$95,	435.23
Section	H: Paper Mill Rd./Springlake Rd.		TIDAD	Φ2.527.50	A2 525 50	#16 000 10	Φ1.6.000.10	#2 552 20	#2 552 20	#2 475 00	#2.475.00
1	Mobilization	1	LUMP	\$2,537.50	\$2,537.50	\$16,900.19	\$16,900.19	\$2,772.30	\$2,772.30	\$2,475.00	\$2,475.00
2	Traffic Control	1	LUMP	\$10,657.50	\$10,657.50	\$33,849.00	\$33,849.00	\$9,000.00	\$9,000.00	\$16,683.78	\$16,683.78
3	Temporary Striping	1	LUMP	\$10,150.00	\$10,150.00	\$4,400.00	\$4,400.00	\$250.00	\$250.00	\$6,023.60	\$6,023.60
	FULL MILL ASPH CONC PVMT (GDOT #432-	15,866	SY	\$4.00	\$63,464.00	\$6.91	\$109,634.06	\$1.10	\$17,452.60	\$2.67	\$42,362.22
4	5010)	,		4	400,101100	44.7	4-00,000	4-1	4,	42.07	4,
	1.5 INCHES RECYCLED ASPH CONC 12.5MM										
	SUPERPAVE, GP 2 ONLY, INCL BITUM MATL &	1,348	TON	\$139.00	\$187,372.00	\$155.00	\$208,940.00	\$150.00	\$202,200.00	\$135.69	\$182,910.12
5	H LIME (165LB/SY) AND BITUM TACK COAT										
	1.5 INCHES RECYCLED ASPH CONC 12.5MM										
	SUPERPAVE, GP 1 OR 2 ONLY, INCL BITUM	372	TON	\$135.50	\$50,406.00	\$463.00	\$172,236.00	\$150.00	\$55,800.00	\$141.36	\$52,585.92
	MATL & H LIME (165LB/SY) – From Pike to The	312	ION	\$133.30	\$30,400.00	\$405.00	\$172,230.00	\$150.00	\$55,800.00	\$141.50	\$32,363.92
6	Carolina Apt Complex. AND BITUM TACK COAT										
	STRIPING DOUBLE SOLID 5" YELLOW line										
	Thermoplastic, INCL. REFLECTIVE PAVEMENT	0.71	MILES	\$14,007.00	\$9,944.97	\$3,520.00	\$2,499.20	\$13,200.00	\$9,372.00	\$7,700.00	\$5,467.00
7	MARKERS all colors.										
8	STRIPING SOLID 5" WHITE line Thermoplastic	1.83	MILES	\$7,003.50	\$12,816.41	\$3,520.00	\$6,441.60	\$6,600.00	\$12,078.00	\$3,300.00	\$6,039.00
9	STRIPING SKIP 5" WHITE line Thermoplastic	0.06	MILES	\$4,669.00	\$280.14	\$3,520.00	\$211.20	\$4,400.00	\$264.00	\$3,025.00	\$181.50
10	Thermoplastic STRIPING 24" STOP BAR	25	LF	\$11.67	\$291.75	\$8.25	\$206.25	\$11.00	\$275.00	\$9.90	\$247.50
	X-WALK per walking Thermoplastic (8" SOLID	123	SY	\$17.51	\$2,153.73	\$8.25	\$1,014.75	\$16.50	\$2,029.50	\$16.50	\$2,029.50
11	WHITE)	123	31	\$17.31	\$4,133.73	\$0.43	\$1,014.73	\$10.50	\$2,029.30	\$10.50	\$4,049.30
12	THERMOPLASTIC PVMT MARKING ARROW	10	EACH	\$116.73	\$1,167.30	\$137.50	\$1,375.00	\$110.00	\$1,100.00	\$220.00	\$2,200.00
13	THERMOPLASTIC PVMT MARKING WORD	5	EACH	\$233.45	\$1,167.25	\$220.00	\$1,100.00	\$220.00	\$1,100.00	\$385.00	\$1,925.00
	YELLOW THERMOPLASTIC DETAIL "B"										
	(GDOT T-14) INCL. REFLECTIVE PAVEMENT	443	SY	\$8.76	\$3,880.68	\$8.25	\$3,654.75	\$8.25	\$3,654.75	\$11.00	\$4,873.00
14	MARKERS all colors.	<u> </u>									
	WHITE THERMOPLASTIC DETAIL "A" (GDOT T										
	14) INCL. REFLECTIVE PAVEMENT MARKERS	100	SY	\$8.76	\$876.00	\$8.25	\$825.00	\$8.25	\$825.00	\$11.00	\$1,100.00
15	all colors.										
16	WATER VALVE RINGS/RISERS	2	EACH	\$507.50	\$1,015.00	\$50.00	\$100.00	\$300.00	\$600.00	\$384.16	\$768.32
17	SEWER VALVE RINGS/RISERS	2	EACH	\$507.50	\$1,015.00	\$50.00	\$100.00	\$300.00	\$600.00	\$384.16	\$768.32
			H Total),195.23		,487.00		373.15		,639.78
•								•			

Section	I: Saddle Shoals Neighborhood.										
1	Mobilization	1	LUMP	\$1,522.50	\$1,522.50	\$19,600.56	\$19,600.56	\$173.15	\$173.15	\$2,475.00	\$2,475.00
2	Traffic Control	1	LUMP	\$16,747.50	\$16,747.50	\$33,849.00	\$33,849.00	\$100.00	\$100.00	\$17,580.28	\$17,580.28
	EDGE (6 FT WIDE EACH LANE) MILL ASPH	10,864	SY	\$4.00	\$43,456.00	\$6.91	\$75,070.24	\$0.25	\$2,716.00	\$5.08	\$55,189,12
3	CONC PVMT(GDOT #432-5010)	10,804	31	\$4.00	\$43,430.00	\$0.91	\$73,070.24	\$0.23	\$2,710.00	\$3.06	\$33,189.12
	FULL MILL ASPH CONC PVMT FOR SADDLE	2,220	SY	\$4.05	\$8,991.00	\$6.91	\$15,340.20	\$0.25	\$555.00	\$4.77	\$10,589.40
4	SHOAL TRL ONLY.	2,220	51	\$4.03	\$8,991.00	\$6.91	\$13,340.20	\$0.23	\$333.00	\$4.77	\$10,389.40
	1.5 INCHES RECYCLED ASPH CONC 9.5MM										
	SUPERPAVE, GP 2 ONLY (SURFACE COURSE),	2,035	TON	\$135.86	\$276,475.10	\$145.00	\$295,075.00	\$150.00	\$305,250.00	\$142.95	\$290,903.25
5	INCL BITUM MATL & H LIME (165LB/SY)										
6	MANHOLES/VALVES RINGS/RISERS	40	EACH	\$507.50	\$20,300.00	\$50.00	\$2,000.00	\$300.00	\$12,000.00	\$384.14	\$15,365.60
7	Thermoplastic STRIPING 24" STOP BAR	12	LF	\$11.67	\$140.04	\$8.25	\$99.00	\$11.00	\$132.00	\$9.90	\$118.80
		Section	ı I Total	\$367	,632.14	\$441,	,034.00	\$320,	926.15	\$392	,221.45
Section	J: Warranty and Bonds		101	,500.00	25,0	00.00	7,49	99.90	17,6	61.17	
		\$1,767,444.63		\$2,405,292.80		\$1,469	0,000.05	\$1,622	3,221.70		

Recommended Vendor:
The Scruggs Company d/b/a Sunbelt Asphalt Services, Inc.
1410 Sunbelt Way
Auburn, GA 30011
770-867-5312
jason@sunbeltasphalt.com